ABC PUBLIC SCHOOL

PRE - TEST 3
SESSION —2023-2024

CLass—1III (A +B) M.M.: 50
(COMPUTER)
Q1- Choose the correct option : [1x 5=15]
Q2- Fill in the blanks : [1x5=5]
Q3- Write True/ False : [1x5=15]
Q4- Match the following : [1x 5=15]
Q5- Missing letters : [1x5=15]
Q6- Get the meaningful words : [1x5=135]
Q7- Answer these questions: (any 5) [3x 5=15]
Q8 - Draw any one device and fill the colours : [5x1=15]
(ENGLISH)
SECTION - A (25 MARKS)
D Choose the correct option. (0.5x6=3)
1)) Fill in the blanks. (1x4=4)
III)  True or False. (0.5x6=3)
IV)  Word meaning. (1x3=3)
V) Make sentences. (2x3=6)
VI) Answer these questions. (2x3=6)
SECTION - B (25 MARKS)
D Choose the correct option. (0.5x6=3)
) Match the following. (1x5=5)
III) Complete the questions. (1x5=5)
IV)  Complete the sentences. Use was or were. (1x4=4)
V) Complete the sentences. Use past form of these verbs. (1x4=4)
VI) Circle the correct adverb. (1x4=4)

(MATHS)
SECTION -A
Q1. a) Multiple choice questions
b) Fill in the blanks
¢) Match the following
d) True/ False

SECTION - B (3 x 5 =15 Marks)
Q2. Solve the following questions (Do any 5 out of 7)

SECTION - C (5 x 3 =15 Marks)
Q3. Solve the following questions (Do any 3 out of 5).

(1 x 5 =5 Marks)
(1 x 5 =5 Marks)
(1 x 5 =5 Marks)
(1 x 5 =5 Marks)



1- HEY 3ca} 9 HE FT e Femne
2- Rea wurer 1w

3- rsgTy

4- qIEFT GIQET

5- T9T- &Ter & gl

6- 9T- 3ca

7- AT & T
8- 92 Ica¥ (IRATIHT F 3R W)

9- 3rafSe argATer

10- Hfaar (10 dfdTan)

Q1. Choose the correct option

Q2. Fill in the blanks

Q3. Match the following

Q4. Give reason

Q5. Name the following

Q6. Answer the following question
Q7. Write True & False

Q8. Map work

Q1. Choose the correct option

Q2. Write True & false

Q3. Define the following

Q4. Fill in the blanks

QS. Match the following

Q6. Name the following

Q7. Answer the following question
Q8. Diagram

(HINDI)
(E3-F)

(@3- |@)

(@s- M)

(SOCIAL STUDIES)

(SCIENCE)

0.5x4=2

0.5x4=2

1x4=4
1x4=4

1x8=8
2x3=6

1x8=8
2x3=6

5x1=5
5x1=5

(1x10=10)
(1x6=6)
(72x8=4)
(1x6=6)
(1x5=5)
(2x5=10)
(*2x10=5)
(4x1=4)

(1x10=10)
(¥:x10=5)
(2x4=8)
(1x7=7)
(¥4x6=3)
(1x3=3)
(2x5=10)
(4x1=4)



